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3. keresztszelvény
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5. keresztszelvény
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1. keresztszelvény

MECSEK UTCAII.

2. keresztszelvény

MeV-2-0-0 0+055.8 MeV-2-0-0 0+175.5
M,=1:100 My=1:100 M,=1:100 M,=1:100
10,28 981
0,684|, 2,28 f 3,34 ¥ 278 e 1,01 ¥ 235 ¥ 340 f 2,84 10,62
g \0.18 0,50 , \0,10
Ut 0t
109
108
I i : 107 I | 10.54)
! 105.94 §0,45 ! ! 105.93
| 106 ~1__ ' |
| ——— |
104.66 105 . i1o4.74
o =
103
= =
= =
O O
3 3
> )
IS IS
> >
3| 3| g 2 = D QD
g3 4 | o g 4 | <
E | B E | 3w
5§ 5 g | 2% § g | 2%
= =z 8 & 3 8 § s B SEEE 2 g sl s & 2 2
Terep [mBH] S 8 8 8l g g g 8 8 Terep [mBf] gl g|g 8 gl gl g 8 8 8
SRE B 3 2 B 2
Takaras [m] o - - Takaras [m] ° - -
1,66 1,10 1,78 1,32 442 2,49 1,98 1,25 410
1,66 2,49
27 44
4,54 571
5,86 9,81

10,28

109

108

107

106

105

104

103




